04 - ZADACI ZA NJIH - APSOLUTNA VRIJEDNOST

A-grupa

Tekst svih zadataka je isti: ”Rijesi (ne)jednadzbu”.

L |z +2[=3 (Rj: z € {-5,1})
2. ||z| -1 =4 (Rj: = € {£5})
3. |—x+1—|z+2/=3 (Rj: z €< —00, —2])
4. |+ 3| > 6 (Rj: x €< —00,—9 > U < 3, +00 >)
5. 22 — 3| <z —4 (Rj: z € 0)
2;_ 1’ <0 (Rj: €< —o0,0))
B-grupa

Tekst svih zadataka je isti: ”Rijesi (ne)jednadzbu”.

1. |lz—=2|=5 (Rj: x € {-3,7})

2. |1—1z|]| =10 (Rj: x € {£11})

3. |le=3|+[2—z]=2 Rj: z € {3,1})

4. |lx —4] <5 (Rj: z €< —1,9 >)

5. |3z — 5] >x+2 (Rj: z €< —00,3 > U < I 400 >)

>0 (Rj: z € [0, 400 >)
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